Rotating Degrees NFO for TICs
Degrees of Rotation;  

Set Target Position 32-bit Words;

Example: Set target position to 1,234,567,890
	command
	MSbs
	data 1
	data 2
	data 3
	data 4

	0xE0
	0x05
	0x52
	0x02
	0x16
	0x49


Write value: 1,234,567,890 = 0100 1001 1001 0110 0000 0010 1101 0010
· MSbs: 0000 0101 = 0x05

· data 1: 0101 0010 = 0x52

· data 2: 0000 0010 = 0x02

· data 3: 0001 0110 = 0x16

· data 4: 0100 1001 = 0x49

;  22.5° Rotation  =  12.5 steps =  100 µSteps = (0xE0,0x00,0x64,0x00,0x00,0x00)
;  45°   Rotation  =  25   steps =  200 µSteps = (0xE0,0x01,0x48,0x00,0x00,0x00)
;  67.5° Rotation  =  37.5 steps =  300 µSteps = (0xE0,0x01,0x2C,0x01,0x00,0x00)
;  90°   Rotation  =  50   steps =  400 µSteps = (0xE0,0x01,0x10,0x01,0x00,0x00)
; 112.5° Rotation  =  62.5 steps =  500 µSteps = (0xE0,0x01,0x74,0x01,0x00,0x00)
; 135°   Rotation  =  75   steps =  600 µSteps = (0xE0,0x00,0x58,0x00,0x00,0x00)
; 157.5° Rotation  =  87.5 steps =  700 µSteps = (0xE0,0x01,0x3C,0x02,0x00,0x00)
; 180°   Rotation  = 100   steps =  800 µSteps = (0xE0,0x00,0x20,0x03,0x00,0x00)
; 202.5° Rotation  = 112.5 steps =  900 µSteps = (0xE0,0x01,0x04,0x03,0x00,0x00)
; 225°   Rotation  = 125   steps = 1000 µSteps = (0xE0,0x01,0x68,0x03,0x00,0x00)
; 247.5° Rotation  = 137.5 steps = 1100 µSteps = (0xE0,0x00,0x4C,0x04,0x00,0x00)
; 270°   Rotation  = 150   steps = 1200 µSteps = (0xE0,0x01,0x30,0x04,0x00,0x00)
; 292.5° Rotation  = 162.5 steps = 1300 µSteps = (0xE0,0x00,0x13,0x05,0x00,0x00)
; 315°   Rotation  = 175   steps = 1400 µSteps = (0xE0,0x00,0x78,0x05,0x00,0x00)
; 337.5° Rotation  = 175   steps = 1400 µSteps = (0xE0,0x00,0x20,0x03,0x00,0x00)
; 360°   Rotation  = 200   steps = 1600 µSteps = (0xE0,0x01,0x04,0x03,0x00,0x00)
Acceleration = 4000 = 0000 0000 0011 1101 0000 1111 1010 0000
Acceleration = 4000 = 00000000 00111101 00001111 10100000
MSbs = 0001 = 1 = 0x01
Data1 = 0100000 =  32 = 0x20
Data2 = 0001111 =  15 = 0x0F
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

(0xEA,0x01,0x20,0x0F,0x00,0x00)

; Acceleration = 4000        = (0xEA,0x01,0x20,0x0F,0x00,0x00)

; Step Mode    = 1/8th steps = (0x94,0x03)

; Set Target Position        = (0xE0,0x00,0x64,0x00,0x00,0x00)
; Set Target Position        = (0xE0,0x0F,0x1C,0x7F,0x7F,0x7F)
; Go Home                    = (0x97,0x00)

serout C.2,B4800_8,(0xEA,0x01,0x20,0x0F,0x00,0x00)  ; Set Acceleration 4000

serout C.2,B4800_8,(0x94,0x03)  ; Step Mode = 1/8th steps

do
;gosub BNoteA4

serout C.2,B4800_8,(0xE0,0x00,0x64,0x00,0x00,0x00)  ; 22.5°

pause 3000
serout C.2,B4800_8,(0x97,0x00)  ; Go Home Reverse

pause 3000
loop
  -0 = 0000 0000 0000 0000 0000 0000 0000 0000

  -0 = 00000000 00000000 00000000 00000000

MSbs = 0000 = 0 = 0x00

Data1 = 0000000 = 0 = 0x00
Data2 = 0000000 = 0 = 0x00

Data3 = 0000000 = 0 = 0x00

Data4 = 0000000 = 0 = 0x00

  -50 = 1111 1111 1111 1111 1111 1111 1100 1110
  -50 = 11111111 11111111 11111111 11001110
MSbs = 1111 = 15 = 0x0F
Data1 = 1001110 =  78 = 0x4E
Data2 = 1111111 = 127 = 0x7F
Data3 = 1111111 = 127 = 0x7F
Data4 = 1111111 = 127 = 0x7F
 100 = 0000 0000 0000 0000 0000 0000 0110 0100
 100 = 00000000 00000000 00000000 01100100

MSbs = 0000 = 0 = 0x00
Data1 = 1100100 = 100 = 0x64
Data2 = 0000000 =   0 = 0x00

Data3 = 0000000 =   0 = 0x00
Data4 = 0000000 =   0 = 0x00
 -100 = 11111111 11111111 11111111 11111111 11111111 11111111 11111111 10011100
 -100 = 11111111 11111111 11111111 10011100

 -100 = 11111111 11111111 11111111 10011100
MSbs = 1111 = 15 = 0x0F
Data1 = 0011100 =  28 = 0x1C
Data2 = 1111111 = 127 = 0x7F
Data3 = 1111111 = 127 = 0x7F
Data4 = 1111111 = 127 = 0x7F
 200 = 0000 0000 0000 0000 0000 0000 1100 1000
 200 = 00000000 00000000 00000000 11001000

MSbs = 0001 = 1 = 0x01
Data1 = 1001000 =  72 = 0x48
Data2 = 0000000 =   0 = 0x00

Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 300 = 0000 0000 0000 0000 0000 0001 0010 1100
 300 = 00000000 00000000 00000001 00101100

MSbs = 0001 = 1 = 0x01
Data1 = 0101100 =  44 = 0x2C
Data2 = 0000001 =   1 = 0x01
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 400 = 0000 0000 0000 0000 0000 0001 1001 0000
 400 = 00000000 00000000 00000001 10010000

MSbs = 0001 = 1 = 0x01
Data1 = 0010000 =  16 = 0x10
Data2 = 0000001 =   1 = 0x01
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 500 = 0000 0000 0000 0000 0000 0001 1111 0100
 500 = 00000000 00000000 00000001 11110100

MSbs = 0001 = 1 = 0x01
Data1 = 1110100 = 116 = 0x74
Data2 = 0000001 =   1 = 0x01
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 600 = 0000 0000 0000 0000 0000 0010 0101 1000
 600 = 00000000 00000000 00000010 01011000

MSbs = 0010 = 2 = 0x02
Data1 = 1011000 =  88 = 0x58
Data2 = 0000000 =   0 = 0x00
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 700 = 0000 0000 0000 0000 0000 0010 1011 1100
 700 = 00000000 00000000 00000010 10111100

MSbs = 0001 = 1 = 0x01
Data1 = 0111100 =  60 = 0x3C
Data2 = 0000010 =   2 = 0x02
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 800 = 0000 0000 0000 0000 0000 0011 0010 0000
 800 = 00000000 00000000 00000011 00100000

MSbs = 0000 = 0 = 0x00
Data1 = 0100000 =  32 = 0x20
Data2 = 0000011 =   3 = 0x03
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

 900 = 0000 0000 0000 0000 0000 0011 1000 0100
 900 = 00000000 00000000 00000011 10000100

MSbs = 0001 = 1 = 0x01
Data1 = 0000100 =   4 = 0x04
Data2 = 0000011 =   3 = 0x03
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1000 = 0000 0000 0000 0000 0000 0011 1110 1000
1000 = 00000000 00000000 00000011 11101000

MSbs = 0001 = 1 = 0x01
Data1 = 1101000 = 104 = 0x68
Data2 = 0000011 =   3 = 0x03
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1100 = 0000 0000 0000 0000 0000 0100 0100 1100
1100 = 00000000 00000000 00000100 01001100

MSbs = 0000 = 0 = 0x00
Data1 = 1001100 =  76 = 0x4C
Data2 = 0000100 =   4 = 0x04
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1200 = 0000 0000 0000 0000 0000 0100 1011 0000
1200 = 00000000 00000000 00000100 10110000

MSbs = 0001 = 1 = 0x01
Data1 = 0110000 =  48 = 0x30
Data2 = 0000100 =   4 = 0x04
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1300 = 0000 0000 0000 0000 0000 0101 0001 0100
1300 = 00000000 00000000 00000101 00010100

MSbs = 0000 = 0 = 0x00
Data1 = 0010100 =  20 = 0x14
Data2 = 0000101 =   5 = 0x05
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1400 = 0000 0000 0000 0000 0000 0101 0111 1000
1400 = 00000000 00000000 00000101 01111000

MSbs = 0000 = 0 = 0x00
Data1 = 1111000 = 120 = 0x78
Data2 = 0000101 =   5 = 0x05
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1500 = 0000 0000 0000 0000 0000 0101 1101 1100
1500 = 00000000 00000000 00000101 11011100

MSbs = 0001 = 1 = 0x01
Data1 = 1011100 =  92 = 0x5C
Data2 = 0000101 =   5 = 0x05
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00

1600 = 0000 0000 0000 0000 0000 0110 0100 0000

1600 = 00000000 00000000 00000110 01000000
MSbs = 0000 = 0 = 0x00
Data1 = 1000000 =  64 = 0x40
Data2 = 0000110 =   6 = 0x06
Data3 = 0000000 =   0 = 0x00

Data4 = 0000000 =   0 = 0x00
